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cosp = 1.0 cosp = 0.5L cosp = 0.8C
I | & 2 B 4 o IBAS
Rl [RE 2 [FIME i R R 2 " s W1 R 2 " 0
Imax  [-0.092 |-0.103 |-0.098 | -0.1 |-0.232 |-0.214 |-0.223 | -0.2 [-0.033 |-0.028 |-0.031 | 0.0
0.5lmax |-0.093 |-0.086 |-0.090 | -0.1 |-0.182 |-0.164 [-0.173 | -0.2 |-0.062 |-0.056 |-0.059 | -0.1
10 Iy |-0.074 |-0.071 |-0.073 | -0.1 |-0.113 |-0.132 |-0.123 | -0.1 |-0.063 [-0.054 [-0.059 | -0.1
lte -0.073 |-0.065 [-0.069 | -0.1 [-0.072 |-0.062 |-0.067 | -0.1 |-0.071 |-0.068 [-0.070 | -0.1
Imin -0.074 |-0.062 |-0.068 | -0.1 |-0.063 |-0.059 [-0.061 | -0.1 |-0.075 |-0.059 |-0.067 | -0.1
LA | cosgp = 0.25L cosp = 0.5C cosg = 0.25C
Imax  |-0.092 |-0.104 |-0.098 | -0.1 |-0.293 |-0.277 |-0.285 | -0.3 / / / /
10 Iy  |-0.074 |-0.083 |-0.079 | -0.1 |-0.164 |-0.154 |-0.159 | -0.2 / / / /
lir -0.054 |-0.047 |-0.051 | -0.1 [-0.102 |-0.123 [-0.113 | -0.1 / / / /
AIHEREEAIRE (%) AP 7RE
; cosf =1.0 cosf = 0.5L
B [ wer | w2 | vem leman |wme1 | wee | vem | e
lmax | -0.096 | -0.089 |-0.093 -0.1 -0.239 | -0.254 |-0.247 -0.2
A HH 101y | -0.073 | -0.067 |-0.070 -0.1 -0.136 | -0.125 |-0.131 -0.1
lie -0.051 | -0.065 |-0.058 -0.1 -0.124 |-0.115 |-0.120 -0.1
lmax | -0.072 | -0.067 |-0.070 -0.1 -0.012 |-0.031 |-0.022 0.0
B 101y | -0.053 | -0.035 |-0.044 0.0 -0.213 | -0.221 |-0.217 -0.2
lte -0.055 | -0.045 | -0.050 -0.1 -0.084 |-0.068 |-0.076 -0.1




Imax -0.112 -0.123 | -0.118 -0.1 -0.039 | -0.054 |-0.047 0.0
C # 10 I -0.094 -0.082 -0.088 -0.1 -0.181 -0.194 | -0.188 -0.2
ltr -0.095 -0.077 | -0.086 -0.1 -0.073 | -0.061 |-0.067 -0.1
P SRR AT B R DR R R ZE A AR (%)
3 | cosg/cosf = 1.0 cosg/cosf = 0.5L
A B #H CH A B #H C
Imax 0.0 0.0 0.0 0.0 -0.2 -0.2
10 Iy 0.0 -0.1 0.0 0.0 0.1 0.1
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sing = 1.0 sing = 0.5L sing = 0.5C
LA | 1z 2 1z 2 & 2
wE1 [RE2 PFHME i w1 [RZE 2 PFE i wE 1 [R%E 2 PFE i
Imax  |[-0.092 +0.079 -0.086 0.0 |0.074 -0.056 -0.065 (0.0 [0.053 [0.063 [0.058 | 0.0
0.5lmax -0.094 -0.071 |-0.083 0.0 [}0.065 |-0.086 [-0.076 (0.0 [0.024 [0.045 [0.035 | 0.0
Ib -0.074 -0.053 -0.064 (0.0 0.042 |-0.064 |-0.053 0.0 |-0.047 }-0.027 }0.037 | 0.0
0.2lp —  [+0.244 [+0.212 |+0.228 |+0.2 |-0.042 |-0.074 -0.058 | 0.0
0.1lp  |+0.224 |+0.242 |+0.233 |+0.2 [+0.234 |+0.252 |+0.243 |+0.2 |-0.056 [-0.045 -0.051 | 0.0
0.05lp |+0.224 |+0.252 |+0.238 |+0.2 — —
g | sing = 0.25L sing = 0.25C
w1 R 2 FEME | BASE | R®EL R 2 FHME | BASR
Imax -0.091 -0.079 -0.085 0.0 +0.113 +0.109 | +0.111 +0.2
0.5lmax | -0.082 -0.098 -0.090 0.0 +0.012 0.032 +0.022 0.0
I -0.072 -0.058 -0.065 0.0 +0.021 -0.014 +0.004 0.0
0.2lp -0.043 -0.073 -0.058 0.0 +0.053 +0.035 | +0.044 0.0
LINHEREEAIRE (%) AP 57EK
A
sing = 1.0 sind = 0.5L sind = 0.5C
HLUA |
& 2 & 2 & 2
w1l %2 PERME iz w1 [R%E 2 PFE - wE 1 [RE 2 FE iz
Imax  |-0.088 |-0.068 |-0.078 (0.0 |-0.048 }-0.062 }0.055 (0.0 [-0.021 [0.022 [0.000 (0.0
I -0.035 |-0.055 -0.045 (0.0 [0.069 [0.056 [0.063 [0.0 [-0.049 |-0.032 |-0.041 (0.0
0.2lp — }0.029 0.012 }0.009 0.0 [-0.051 |-0.035 | -0.043 | 0.0




0.1l 0.063 |-0.051 |-0.057 (0.0 — —
B #H
: sinf = 1.0 sind = 0.5L sinf = 0.5C
L |
f& 4] f& 4] & 2
Rl [RE2 [THE R 1 IRZE 2 PFEE W1 RE 2 PFEE
RS RS 2
lmax  [-0.121 -0.134 }-0.128 | -0.2 }-0.067 |-0.082 }-0.075 | 0.0 -0.123 -0.094 [-0.109 | 0.0
I -0.079 [-0.099 |-0.089 | 0.0 [-0.025 }0.052 -0.039 | 0.0 |-0.121 |-0.145 [0.133 | -0.2
0.2l — |0.113 -0.084 |-0.099 0.0 [-0.142 |-0.133 |-0.138 | -0.2
0.1l 0.059 |-0.064 |-0.062 | 0.0 — —
C
i sinf = 1.0 sind = 0.5L sinf = 0.5C
L |
& 4] & 4] & )
WL [R%E2 PFAHE RE 1 [IR%E 2 PP w1 [RZE 2 PFEME
ZFS ZFS 4R
lmax  |-0.046 -0.039 [-0.043 | 0.0 }-0.044 |-0.102 |-0.073 | 0.0 |-0.141 -0.165 |-0.153 | -0.2
I -0.028 [-0.054 |-0.041 | 0.0 [-0.123 }0.104 |-0.114 |-0.2 [-0.142 |-0.153 [0.148 | -0.2
0.2l — 0.113 -0.194 |-0.154 0.2 [-0.153 -0.124 |-0.139 | -0.2
0.1, 0.047 |-0.068 |-0.058 | 0.0 — —
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n._ 4 a2 ; VR 5A o
&N WG AE KW-h 1217 Ja 7~ fEl KW-h HLREH &/ KW-h
W1 0.13 19.95 19.82
Wo 0.24 20.05 19.81
W3 0.25 20.06 19.81
W4 0.37 20.15 19.78
W 1.00 80.21 79.21
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LI WHERERANTED, | WERBKTEP TR ERZEYp
Imax 39659.9 W 39.601kW +0.2
10l¢r 3299.67 W 3.301kW 0.0
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